
DIVISION EUCLIDIENNE
FICHE 791
A B

1 4 4 9 6 0 1449 = 24 × 60 + 9 3 7 3 6 8 8 3736 = 42 × 88 + 40
- 1 2 0 2 4 1449 = 24 × 60 + 9 - 3 5 2 4 2 3736 = 42 × 88 + 40

2 4 9 2 1 6
- 2 4 0 - 1 7 6

9 4 0

C D
6 1 9 8 8 8 6198 = 70 × 88 + 38 2 3 0 1 4 5 2301 = 51 × 45 + 6

- 6 1 6 7 0 6198 = 70 × 88 + 38 - 2 2 5 5 1 2301 = 51 × 45 + 6
3 8 5 1

- 0 0 - 4 5
3 8 6

E F
3 1 9 1 5 9 3191 = 54 × 59 + 5 5 9 9 7 9 3 5997 = 64 × 93 + 45

- 2 9 5 5 4 3191 = 54 × 59 + 5 - 5 5 8 6 4 5997 = 64 × 93 + 45
2 4 1 4 1 7

- 2 3 6 - 3 7 2
5 4 5

NOM :
PRENOM : http://www.scalpa.info



DIVISION EUCLIDIENNE
CORRECTION FICHE 791
A B

1 4 4 9 6 0 1449 = 24 × 60 + 9 3 7 3 6 8 8 3736 = 42 × 88 + 40
- 1 2 0 2 4 - 3 5 2 4 2

2 4 9 2 1 6
- 2 4 0 - 1 7 6

9 4 0

C D
6 1 9 8 8 8 6198 = 70 × 88 + 38 2 3 0 1 4 5 2301 = 51 × 45 + 6

- 6 1 6 7 0 - 2 2 5 5 1
3 8 5 1

- 0 0 - 4 5
3 8 6

E F
3 1 9 1 5 9 3191 = 54 × 59 + 5 5 9 9 7 9 3 5997 = 64 × 93 + 45

- 2 9 5 5 4 - 5 5 8 6 4
2 4 1 4 1 7

- 2 3 6 - 3 7 2
5 4 5

NOM :
PRENOM : http://www.scalpa.info


